

From: [REDACTED] >
To: James Ce <[REDACTED]>
Cc: Rich Kahn <[REDACTED]>
Subject: Re: Iphone X
Date: Wed, 08 Nov 2017 14:37:22 +0000

Nice! I have multiple alerts on my computer also from the upgrade...see you soon!

On Nov 8, 2017, at 9:32 AM, james | personal genius <[REDACTED]> wrote:

I'll be at the house in 15 min. The boss emailed me this am inviting me to come early.

(Allow the MS AutoUpdate Daemon)
Thank you,

James Ce
your Personal Genius
 Certified Support Professional 10.6
<http://personalgenius.co>

On Nov 8, 2017, at 9:23 AM, [REDACTED] > wrote:

Morning! We will see you at 10:30am bright eyed and bushy tailed!
...my computer is asking if I really want to use the Micosoft AU Daemon...I am not sure what to do...I know you sent me a text re soething my computer would do but I can't find the text...I can wait till you are here to show you...

On Nov 7, 2017, at 11:38 AM, james | personal genius <[REDACTED]> wrote:

Of course!

Thank you,

James Ce
[your Personal Genius](http://personalgenius.co)
 Certified Support Professional 10.6
<http://personalgenius.co>

On Nov 7, 2017, at 8:18 AM, [REDACTED] > wrote:

James, can you help me some with my phone also?

On Nov 6, 2017, at 6:25 PM, james | personal genius <[REDACTED]> wrote:

Absolutely. See you then (I can sort out any problems with your iMac upgrade at the same time).

Thank you,

James Ce
your Personal Genius
 Certified Support Professional 10.6

<http://personalgenius.co>

On Nov 6, 2017, at 6:23 PM, [REDACTED] > wrote:

Hi James...Could you come at 10:30am?

On Nov 6, 2017, at 5:06 PM, james | personal genius <[REDACTED]> wrote:

Hi [REDACTED],

[REDACTED] available 10-6 on Wednesday, could you please let me know when is best to get an hour with the boss' phone?

Thank you,

James Ce
your Personal Genius
□ Certified Support Professional 10.6
<http://personalgenius.co>

Begin forwarded message:

From: "jeffrey E." <[REDACTED]>
Date: November 6, 2017 at 5:03:53 PM EST
To: Richard Kahn <[REDACTED]>, "james ce | personal genius" <[REDACTED]>
Subject: Re: Iphone X

pretty good, but wiped out my contacts. james will have to fix on wed.

On Mon, Nov 6, 2017 at 4:35 PM, Richard Kahn <[REDACTED]> wrote:
hope you are enjoying your new phone

just received order confirm for 25 phones..
showing nov 27 - dec 4 dates to receive..

Richard Kahn
HBRK Associates Inc.
[575 Lexington Avenue 4th Floor](#)
[New York, NY 10022](#)
tel [212-971-1306](tel:212-971-1306)
fax [212-320-0381](tel:212-320-0381)
cell [917-414-7584](tel:917-414-7584)

Begin forwarded message:

From: Apple Store <[REDACTED]>

Subject: Thank you for your order.
Date: November 6, 2017 at 4:32:49 PM EST
To: [REDACTED]
Cc: [REDACTED]



Apple Retail for Business

Order Acknowledgement

Order number:

1006891699

Date ordered:

October 30, 2017

Bill to:

HBRK Associates Inc.
Richard Kahn
[575 LEXINGTON AVE 4 FL](#)
[NEW YORK NY 10022](#)-6146
USA

Ship to:

HBRK Associates Inc.
Richard Kahn
[575 LEXINGTON AVE 4 FL](#)
[NEW YORK NY 10022](#)-6146
USA
(212)297-1130 6

Visit [Order Status](#) to view your order details.

Product / Description	Quantity	Price	Total
iPhone X 256GB Silver (GSM) MQAN2LL/A	15	\$1,149.00	\$17,235.00
iPhone X 256GB Space Gray (GSM) MQAM2LL/A	5	\$1,149.00	\$5,745.00
iPhone X 256GB Space Gray MQCN2LL/A	2	\$1,149.00	\$2,298.00
iPhone X 256GB Silver MQCP2LL/A	3	\$1,149.00	\$3,447.00
APPLECARE+ FOR IPHONE X - PHX S6368LL/A	5	\$199.00	\$995.00
APPLECARE+ FOR IPHONE X - PHX S6368LL/A	2	\$199.00	\$398.00
APPLECARE+ FOR IPHONE X - PHX S6368LL/A	15	\$199.00	\$2,985.00

APPLECARE+ FOR IPHONE X - PHX S6368LL/A	3	\$199.00	\$597.00
--	---	----------	-----------------

Subtotal	\$33,700.00
Tax	\$2,990.88
Order Total	\$36,690.88

If you have any questions concerning your order, please contact your Business Team.

Apple, Upper East Side

[940 Madison Avenue](#)

[New York New York 10021](#)

[REDACTED]

[1-646-3432703](#)

This order is subject to the terms and conditions of your direct customer agreement with Apple. If you do not have a direct customer agreement, please see our Sales and Refund Policies.

Copyright © 2017 Apple Inc. All rights reserved.

[Terms of Use](#) | [Privacy Policy](#) | [Sales and Refunds](#)

--

please note

The information contained in this communication is confidential, may be attorney-client privileged, may constitute inside information, and is intended only for the use of the addressee. It is the property of JEE

Unauthorized use, disclosure or copying of this communication or any part thereof is strictly prohibited and may be unlawful. If you have received this communication in error, please notify us immediately by return e-mail or by e-mail to [REDACTED], and destroy this communication and all copies thereof, including all attachments. copyright -all rights reserved